Non-Fluorocarbon

MIRERAT EDCE

Instruction Manual

5 FH 5 B

ReLTO—524TRIEmER R

Bottom-flow Type
Lateral Mounting

JEHS v RO P D T 2 2 5
OCA-H300BC-AW2-R
OCA-H600BC-AW2-R

OCA-H1000BC-AW2-R

OCA-H1600BC-AW2-R

OCA-H2200BC-AW2-R

OCA-H2900BC-AW2-R

/MNEE Caution

A T L N\

- LDV DOBAIIZBEVNTHEENCEELY,

- EREUSHZ DOV TIEAIMORE S  TRIEERA R O BKERAE %
LTSS,

Please read this brochure carefully before use and keep at hand for

future reference.
For other details than the specifications, please refer to the attached

instruction manual for the Standard Lateral Mounting Type.
“ (AT, 15552 R B A
- ER AU BIBHEANLSE L, DN A

\GEPAB LT, SRR S A s,/

S OHM ELECTRIC CO., LTD.

OHM ELECTRIC




AR R ZIERBARIL—N—XFBLTOERE A,
AT LSO A RIAAE, FTEEOIATHLUAIZHZYETS,
AR X RoHS2, CE DHIZHYET,

1

g

1—1 B4

izt OCA-H300BC- | OCA-H600BC- | OCA-H1000BC- | OCA-H1600BC- | OCA-H2200BC- | OCA-H2900BC-
AW2-R AW2-R AW2-R AW2-R AW2-R AW2-R
Rt A Al E BT B (RSN ER AT 1ESAERST)
AMHEES X1 240/290W | 440/550W | 720/920W | 1290/1440W | 1880/2070W | 2370/2640W
EREE B3 AC200~240V 50/60Hz
—— 200V 1.2/1.5A 21/2.7A 2.9/3.7A 3.4/44A 5.0/5.3A 6.6/7.8A
= ’_>.<2 N PP 1.3/1.5A 2.3/2.7A 3.1/3.7A 3.4/45A 5.8/5.1A 6.7/7.4A
: 240V 1.5/1.5A 2.8/2.7A 3.5/3.6A 3.4/45A 7.4/5.1A 7.4/7.1A
RNXEEER 1.6/1.7A 3.0/3.0A 40/4.3A 42/5.2A 8.0/6.8A 9.1/10.8A
WREBIER 49/4.6A 10.3/10.1A 14.5/13.8A 20.7/19.1A 33.3/31.4A 38.1/34.1A
A B E 200V 230/270W 410/440W 570/690W 660/800W 930/1050W 1290/1540W
= ’.>.<2 220V 260/310W 490/490W 650/760W 720/860W 1070/1110W 1380/1590W
i 240V 320/340W 620/550W 750/840W 790/930W 1300/1210W 1550/1670W
RNHEEAN 350/380W 690/630W 890/970W 950/1170W 1530/1480W 1970/2190W
ERE (A BF) 63dB 64dB 65dB 66dB 66dB 66dB
gt LEE B HFO R1234yf
" HAE 130g | 280g | 500g | 780g | 1000g | 1100g
HhEKRIE LRI GWP X3 <1
S FTEWXHXD 300 x 500 X 300 X 550 X 350 x 900 X 390 X 950 X 450 X 1150 x 450 X 1350 X
(mm) 150 mm 200 mm 200 mm 220 mm 220 mm 220 mm
AEE=E #9 16.0kg #9 20.0kg #3 33.0kg #9 41.0kg #9 50.0kg #9 62.0kg

X1 BANBESKIUBREEN 3 COBEDATANEENTT,
%2 [TERIIBNEESIVBREENILSCHIGE. RAIEFEFEEEHSCCHOLMETT,
%3 IPCC % 5 RL7R—bk 2013 S8R

1—2 H@EEH

FERRERE +20°C ~+50°C
FEREETE 85%RH LT #EREZS
REREHE x4 +30°C ~+45°C (¥ #AER %€ : 35°C)
=R BREE. 75— LO—FR/ B85V T/T53—L50T
pae %_W%i%iﬁ#ﬁﬂiﬁ&?&iﬁ#ﬁﬂi iarfzty*f&ﬁﬁ#%ﬂj
AUTFURABHEMLE A/ —, RREAT S I EER s
FS5— LA EEEERALHS 1a R X 2(COMMON #i#)
AC 250V 2A, DC 30V 2A
it PR En 1 RBER 10~55Hz #RIE 0.15mm FFZ1H4(4)L 10 [A]
IR ERTEI(SCCR) 5 kA rms symmetrical, 240V maximum
HREFR NEMEIR P54 FHY
REX S RoHS2
AR EMC {EH EN61000-6-4, EN61000-6-2
EEEES EN60335-1, EN60335-2-40
ZEE MAZE NSHE.NAHEE
HIEEREL—XER 250V 1A

X4 RESHENTIEIFERATEFEEA,

1—3 WELH
Rzt OCA-H300BC-AW2-R OCA-H1000BC-AW2-R OCA-H2200BC-AW2-R
OCA-H600BC-AW2-R OCA-H1600BC-AW2-R OCA-H2900BC-AW2-R
J—FKIK 18
EAtARILE M6 x 35 mm: 4 7 M6 X 35 mm: 6 7 M8 x 35 mm: 6 7
Ty M6:4 ¥ M6:6 ¥ M8:6 #%
AT G Iy M6:4 % M6:6 ¥ M8:6 %%
Fuk M6: 4 & M6:6 & M8:6 1&
AL 1a—JL
FLoh—X 2m
Fo—LERBAI—IL FOT1ACEX T FX T
BikERAAE 2




1—4 SVig~HEE

OCA-H300BC-AW2-R

OCA-H600BC-AW2-R

3 240
‘ 2-M8 #3217
— & FARNMA
O
~
= 316
—1 &
200 270 (15)
300 30 )
m
@ m,
=T ]
S
H m 2-816
% g Iy 7T7IMR
| el .
. * ARUBEEA v v
. . JEREREr Y2

3Q 240 2-MB®E7
N ‘ AL IR
E ¥
(@]
(o)
e 316
150 1 270 (15)
300 .30 iy
0 &
BT
HM % :
o 32
T
2-916
/yIT TR
* * ARG Xy ¥ o
® ®° Jl;' . . #|
& 4L-M6 215
= WALV
kL q 7UMED 12)
a— —
el
m
\747 175)

K vvovg 7(5MED 12

)

|

(186)

%u

(167)

(15),

- .
4-M6RETS
AL

OCA-H1000BC-AW2-R

OCA-H1600BC-AW2-R

3Q,, 290
o ‘ 2’@?3’*5‘?%7 m3 — | 2-MBR:17
> ¥ TR A I A — LZEoIY:]
S 3
i 200 15, 320  _(15) Vle 220 %0 (15)
350 30 390 130
LN LN
1 p T R} )|
N m
n . R g | n o
O ] 0 i3 qofl i H Q faack
i \\|[2s5 @ iR dgs <
5 T\ | [l 25
& | T 177 A i
| ©16 e}
N * Q)
q 9 =3 1=
: K IRROTLE Xy v 2 . . HROBIEA v v 2
. o ¥l N 1 o
Kby 7(5MED 12) D[ 6-M6e#15 KLy q 7(MED 12) O [o-Me #215
— T BAERL A T REROH
— ~
9 I
2 o
m‘b -‘ r,ﬂ = =
4 (223)
(222)
15 420 2-M8&Ex17 o 15 420 2-M8 ®s17
© FARNINA lta! ) — kL b A
v R
m)| 4
R 220 1 420 15) 220 420 (15)
— 450 129 n
450 29 n i
a9 T n
2 o | ¥ [&F
o ] g [ EXEL ] S
m A % \N[39
14 Bk ~ o iy 2-916
o 2-016 LN| U - W‘\ ®
o | [ T . LN A @ | SR U :
7 I \
0 ®16
o e e i —
o 0 N °
O O
[ip}
A * 2 o 6MBA
Ly e S AN ey n M8 = o o < S
F Ly d 7MED 12) % - 6 ngﬁ/ﬁ “g e TRE012) = WAL IR
m‘b — mJ’ =T
1 o0y ¥ (260)




-Adjustable Louver is not included with shipment.
-On internal side, the upper opening is a suction port and the lower opening is an exhaust port.
- Standard conformity: RoHS2 and CE only

1. Specifications
1-1 Models/Specifications

Model OCA-H300BC- | OCA-H600BC- | OCA-H1000BC- | OCA-H1600BC- | OCA-H2200BC- | OCA-H2900BC-
AW2-R AW2-R AW2-R AW2-R AW2-R AW2-R
Type of mounting Lateral mounting (External or Recessed)
Cooling capacity *1 240/290W | 440/550W | 720/920W [ 1290/1440W | 1880/2070W | 2370/2640W
Rated voltage Single phase, 200 to 240V AC, 50/60Hz
Rated current 200V 1.2/1.5A 2.1/2.7A 2.9/3.7A 3.4/4.4A 5.0/5.3A 6.6/7.8A
consumption *2 220V 1.3/1.5A 2.3/2.7A 3.1/3.7A 3.4/4.5A 5.8/5.1A 6.7/7.4A
240V 1.5/1.5A 2.8/2.7A 3.5/3.6A 3.4/4.5A 7.4/5.1A 7.4/7.1A
Max. current
consumption 1.6/1.7A 3.0/3.0A 4.0/4.3A 4.2/5.2A 8.0/6.8A 9.1/10.8A
Starting current 4.9/4.6A 10.3/10.1A 14.5/13.8A 20.7/19.1A 33.3/31.4A 38.1/34.1A
Rated power 200V 230/270W 410/440W 570/690W 660/800W 930/1050W 1290/1540W
consumption *2 220V 260/310W 490/490W 650/760W 720/860W 1070/1110W 1380/1590W
240V 320/340W 620/550W 750/840W 790/930W 1300/1210W 1550/1670W
Max. power consumption 350/380W 690/630W 890/970W 950/1170W 1530/1480W 1970/2190W
Noise 63dB (A) 64dB (A) 65dB (A) 66dB (A) 66dB (A) 66dB (A)
Type,
Refrigerant | ASHRAE No. HFO R1234yf
Amount 130g | 280g | 5009 | 7809 1000g 11009
GWP*3 <1
. . 300x500x 300x550x% 350x900x 390%x950x% 450%1150x% 450%1350x%
Dimensions WxHxD 150 mm 200 mm 200 mm 220 mm 220 mm 220 mm
Weight 16.0kg 20.0kg 33.0kg 41.0kg 50.0kg 62.0kg

*1 Nominal value when both of internal and external temperatures are +35°C

*2 Nominal values at 35°C temperature both inside and outside are indicated in “Rated” and values when ambient
temperature is 50°C are indicated in “Max”.

*3 By IPCC 5th Report 2013

1-2 Common specifications

Working temperature +20°C to +50°C

Working humidity Not exceeding 85%RH, free from condensation

Temperature setting range*4 +30°C to +45°C (Default: 35°C)

Display Internal temp./Alarm code, Operation lamp, Alarm lamp
High temperature alarm, Detection of abnormal heat dissipation, Detection of
Function temperature sensor disconnection,

Maintenance reminder, Forced cooling operation for inspection,

No-voltage contact output 1a contactx2(COMMON)

Alarm output 250V AC 2A,30VDC 2A

Vibration withstand Vibration frequency 10 to 55Hz, Amplitude 0.15mm, Sweep cycle 10 times

Short-circuit current rating (SCCR) 5 kA rms symmetrical, 240V maximum

Protection category Internal circuit 1P54 equivalent

Environment RoHS2
Conformity to standards EMC EN61000-6-4, EN61000-6-2
Low voltage EN60335-1, EN60335-2-40

Color Powder coating N8 equivalent, N4 equivalent

Fuse rating for control board 250V 1A

*4 Use this product only within the specified temperature range.

1-3 Contents of a package

Model OCA-H300BC-AW2-R OCA-H1000BC-AW2-R | OCA-H2200BC-AW2-R
OCA-H600BC-AW2-R OCA-H1600BC-AW2-R | OCA-H2900BC-AW2-R
COOLCABI 1
Fixing bolt M6x35mm: 4 pcs. M6x35mm: 6 pcs. M8x35mm: 6 pcs.
Washer M6: 4 pcs. M6: 6 pcs. M8: 6 pcs.
Spring washer M6: 4 pcs. M6: 6 pcs. M8: 6 pcs.
Nut M®6: 4 pcs. M®6: 6 pcs. M8: 6 pcs.
Packing 1 roll
Drain hose 2m
Alarm information label Japanese 1, English 1 and Chinese 1
Instruction manual 2




1-4 Dimensional drawing

OCA-H300BC-AW2-R

OCA-H600BC-AW2-R

3 240 . 2-M8 Depth17
0 ‘ for eyebolt
.3
(@]
|
TR 16
150 1 270 {15)
300 .30 0
m
@ N
9
3 e 32
LN ~
2-¢16
Knockout
. holes
* ° mesh filter
(L Iy . . +|
o' /4-M6 Deptnis
for fixing bolt
Drain pipe (Outer dia.®12)
)
m
| <

%u

(175)

3 240 .
‘ 2-M8 Depth17
s far eyebolt
=
|
~ P16
' 1o
200 1 270 (15)
300 30 )
m
) m|
=
E==EET
M 3
A
i (71
A IS Knockout
| |, . holes
D N 2
N ° mesh filter
. . e o . ol
O | 4-M6 Depthis
far fixing bolt
Drain pipe (Outer dia.$12)

(167)

OCA-H1000BC-AW2-R

OCA-H1600BC-AW2-R

30 2590
5 | 2—;48 DEDDHFTW 30 330 . 5 up pepthi
3 L ¥ or eyebo [a [ 1 ‘ for eyebalt
;T (=]
e 200 15, 320 _(15) 2
350 30 TE 220 15, 360 _(15)
" 390 _1.30
(IR
) 1 I iy
I n
O [ u 5
I ]
| : 1 \N 35 ¢
o I 2-¢16 2-916
g | * * Knockout i FEN o Knockout
holes holes
0 . 9216 o \_©16
7 <
B N mesh filter [:jl
. . : 4y - o . N mesh filter
n 6-M6 Depthl5 + <
Drain pipe (Oufer dia.#12) = for fixing bolt Drain pipe (Outer dia.®12) o | 6-M6 Depth1s
~ for fixing bolt
3 N
¢ = | g
iy ToT T R ks )
(222) (223)
5. 420 2-M8 Deptht7 15, 420 2 M8 Denthi?
o f o _ P
m — l for eyebolt [ —— ¥ for eyebalt
o m|
m g B
| 220 1 420 15) 220 15 420 (15)
450 128 n
450 129 . o I 4
i\i [T mn
S— o
o m
g L 1 | oR
] Sa i
2 " e e ° ~
141 Be S AN
N o 2-9016
S A | _2-016 ﬁ T * Knockaout
= . . Knockout - ) ) holes
holes AT TR
i _ L 1 016 ot o :l \Lﬂé
A 8
A o I i I e = 4|
Drain pipe (Outer dia.®12) @ N 6-M8 Depth17 ) o] \_e-MB_Depihiz
L S ~ for fixing bolf Drain pipe (Outer dia®12) & - for fixing bolf
el o
\T* (260) (260)




« 7= SRR EHE .
- RN _EE RS RRSM, THEAFFILSEHESM .
- EEMENSF S RoHS2 F CE.

1. FHs
1—1 RSk
7 52 0CA- 0CA- 0CA- 0CA- 0CA- 0CA-
v H300BC-AW2-R | H600BC-AW2-R | H1000BC-AW2-R | H1600BC-AW2-R | H2200BC-AW2-R | H2900BC-AW2-R
LT M 22258 (R Abzeds . AN %S
WEHIRES) X1 240/290W | 440/550W |  720/920W | 1290/1440W | 1880/2070W | 2370/2640W
WE HLE FAH  AC200~240V  50/60Hz
200V 1.2/1.5A 2.1/2.7TA 2.9/3.7TA 3. 4/4. 4A 5.0/5. 3A 6.6/7.8A
HUEHAEHRR X2 220V 1.3/1.5A 2.3/2.TA 3.1/3.7A 3.4/4. 57 5.8/5. 1A 6.7/7. 4A
240V 1.5/1.5A 2.8/2.7A 3.5/3. 6A 3. 4/4. 5\ 7.4/5. 1A 7.4/7. 1A
I K FE R 1.6/1.7A 3.0/3. 0A 4.0/4. 3A 4.2/5. 2\ 8.0/6. 8A 9.1/10. 8A
EELERD 4.9/4. 6A 10. 3/10. 1A 14.5/13. 8A 20.7/19. 1A 33.3/31. 4A 38.1/34. 1A
200V 230/270W 410/440W 570/690W 660,/800W 930,/1050W 1290,/1540W
HE IR %2 220V 260/310W 490/490W 650/760W 720/860W 1070/1110W 1380,/1590W
240V 320/340W 620/550W 750,/840W 790/930W 1300/1210W 1550/1670W
o RTHEETh R 350/380W 690/630W 890,/970W 950/1170W 1530/1480W 1970/2190W
R (A B 63dB 64dB 65dB 66dB 66dB 66dB
HIA 7 EENEA T HFO R1234yf
M B 130g | 280g | 500g | 780g [ 1000g 1100g
RRARIR AR GWP X3 =1
, 300X 500X | 300X550X [ 350X900X200 | 390X950X | 450X 1150X | 450X 1350
IR FF WXHXD: () 150 mm 200 mm mn 220 mm 920 mm 220 mm
Ak g %) 16. Okg #7 20. Okg % 33. Okg %7 41. Okg %5 50. Okg %] 62. Okg

1 A A AN DL R 47 H A Y IR +35 C I AR A EIRE 7 .
X2 [HE | RALANETE LA IR E+35 CRImE, [&K) N ERE+50°C A FRKME .
%3 IPCC 2 5 I Hfdl 2013 Hidi

1—2 IR

A5 FH B R +20°C~+50°C
A% JE R B 85%RH LA~ ARA 4=
WEETER X4 +30°C~+45°C (FIA% E: 35°C)
FR PN N . AR/ BT AT SRR R AT
i ﬁﬁﬁW%ﬁﬁﬁﬁm\Mﬂﬁﬁﬁm\ﬁﬁﬁgﬁﬁﬁﬁm
Y R FRIB AT B . SR SR A HIS 1T ThRE
et it TCHERE S 1a $555 X2 (COMMON JEiH)
AC 250V 2A. DC 30V 2A
fiif 2 ) 14 PRI 10~55Hz PRI 0. 156mm  FAHE A HA 10 [
S5 % LR e {E (SCCR) 5 kA rms symmetrical, 240V maximum
Ry SR WEBIEIR  TP54 A2
IREEXT R RoHS2
& A H EMC #§4 EN61000-6-4. EN61000-6-2
R ERES EN60335-1. EN60335-2-40
WG FAREE N8 A, N4 M4
P AR LR 22 50E {8 250V 1A

X4 ANHTUASE R BEVE FE AME A

1—3 HBENA

. 0CA-H300BC-AW2-R 0CA-H1000BC-AW2-R 0CA-H2200BC-AW2-R
A 0CA-H600BC-AW2-R 0CA-H1600BC-AW2-R 0CA-H2900BC-AW2-R
A 14
AN M6 X 35 mm: 4 4~ M6 X 35 mm: 6 4~ M8 X 35 mm: 6 4>
i M6: 4 4> M6: 6 4> M8: 64
HELRE M6: 44> M6: 6 4 M8: 64
W2 M6: 4 4> M6: 6 M8: 64
% 1%
HEK R 2m
R B 5 Har 15k, $E3 13k, e 1k
A3 U B 2 A




1—4 SMERSHE

0CA-H300BC-AW2-R

0CA-H600BC-AW2-R

3 240
3 240 24 8 BEIT ‘ 24 8 LT
n | e . | ERER
g (@]
(@] ~t
N g Ll 916
e 216 200 1 270 (15)
150 15 270 15) 300 30 0
300 0 / 9 " m
0 N M1 [ T -
_ L o g
ST K ] =
~ .o
(=] (=]
S o o) [\ 32 A w o, .
o ~ * 4 2
’ N 1] . . RS-
| 5 1 e, . » T 46 was
S\ s s - REREN
HASEGHEC 12)
KGOS 12)
E‘:w
g 3
I = | -
Ul iy
N u (175) * L] (167)
0OCA-H1000BC-AW2-R 0CA-H1600BC-AW2-R
30, 290
ﬁ*‘—j 2-M 8 YREEIT 3 30,
< = HRRRH o ‘ 27 8 W17
o = ¥ TR
;T o
= 200 1 320 _(15) °
350 30 TR 220 1 360 (15)
390 130
N
[£m | K T = N
I m
I A
= I H | N feaof
} 141 AN 35§
g I N_2-216
o l § | I I o R
076
m o
plf= :
N
| | iaonn .
|| . . i JE 2 - 4o . BABILLRH
9 | 6w 6 LS t *
HASE OMED 12) S Emen S GMED 12) Sl G-B;gifg
5 N
e &
| = . g
L [35] L
\T*;LJ %‘I;J
(222) (223)
0CA-H2200BC-AW2-R 0CA-H2900BC-AW2-R
15 420 ) 2-M 8 BAELT 15 420 21 8 W17
o |/ ARER A BIHWS
: 5l
T 220 15, 420 “15) — 220 1 420 {15)
450 129 i
450 29 <
—EZ N
T SR H N
| . % oo
N} AR | O 3 3o
LN feaol 0| y g
141 39
| b \
2 I = ﬁ u I N2z
~ ~ I . .
L - T I
(@) . . Uy ol
O — . .
0 3
I 1 JEREN J
o n 6-M 8 BEELT P o
BAIRGEOL) O o e 5l o 64 8 WEIT
o HASE UM 12) Q < FERE
N
T (260) -
i (260)




Sl 7A—-LEiBR NS

OHM ELECTRIC https://www.ohm.ip./

Xt/ HAET—H—E XL 2—
T431-1304 #%kE &b X#;IET)1] 7000-21
TEL:053-522-5572 FAX:053-522-5573

I OHM ELECTRIC CO.,LTD.

OHM ELECTRIC https://www.ohm.ip/

7000-21, Nakagawa, Hosoe, Kita—Ku, Hamamatsu, Shizuoka 431-1304, Japan
TEL 81-53-522-5562 FAX 81-53-523-2362

oM BXIg R &1t

VS WE S LT
T431-1304 & ) R e ha T AL X AN H] F )1] 7000-21
TEL: 81-53-522-5562  FAX: 81-53-523-2362
[ 3 B DEIREHBAZEORNEIL 2023 £ 5 BREDLDTY,

: The contents of this manual is as of May, 2023.

(Original instructions)

[ 3 A B 2 2023 4E 5 A BATIRA



